Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, I* jap+)
System: HGB0_HRS16_96_D65_00%_O0p | _( % — L%\ )/ (Luy - L*
tab*=( N/ Cw L)

Buntton: h* =92/360;h* 2721360 & _cx *
oS SO0 C*lap*=C*aba/ C*an.am

M=Maximalfarbe

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, * jap+)
System: HGB0_HRS16_96_D65_00%_Olpx . _( % — L%\ )/ (Luy ~L*
tab*=( N/ Cw L)

Buntton: h* =92/360;h* 2721360 & _cx *
oS SO0 C*lap*=C*aba/ C*an.am

M=Maximalfarbe

relative Helligkeit
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relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, * jap+)
System: HGB0_HRS16_96_D65_25% OO (| x — L%\ )/ Lty -L*n )
Buntton: h* ;p56=109/360:1* 12r=286/360 .

lab*=C*av.a/ C*abam
M=Maximalfarbe

relativeHelligkeit  I*ap«

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, * jap+)
System: HGB0_HRS16_96_D65_25% Olix  —(|x — L%\ )/ Lty ~L*n )
Buntton: h* ;p56=109/360:n*g1,r=286/360

*lab*=C*ab,a/ C*aba M
M=Maximalfarbe

relative Helligkeit

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, * jap+)
System: HGBO_HRS16_96_D65_50% OO (| x — L%\ )/ Ly -L*x )
Buntion: h* ;506=127/360:1* g25r=300/360 .

lab*=C*av.a/ C*abam
M=Maximalfarbe

relativeHelligkeit  I*ap«
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relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, I* jap+)
System: HGB0_HRS16_96_D65_50% Olix  —(|x — L%\ )/ Lty -L*x )
Buntton: h* ;506=127/360:n* g5r=300/360

*lab*=C*ab,a/ C*aba M
M=Maximalfarbe

relativeHelligkeit ~ I*

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, * jap+)
System: HGB0_HRS16_96_D65_75%_O0p _( % — L%\ )/ (Luy - L*
tab*=( N/ Cw L)

Buntton: h* =144/360;h*, =314/360 .«  _cx *
RS SSER C*lap*=C*aba/ C*an.am

M=Maximalfarbe

relativeHelligkeit  I*ap«

(C*m: *u)

relative Buntheit c* |




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, I* jap+)
System: HGB0_HRS16_96_D65_75%_Olpx . _( L% — L%\ )/ (Luy - L*
tabr=( L’ N/ Cw L)

Buntton: h* =144/360;h* =314/360 .«  _cx *
RS SSER C*lap*=C*aba/ C*an.am

M=Maximalfarbe

relativeHelligkeit  I*|ap«

~
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relative Buntheit c*|p




